R:BEPER%B &Y ZERISEERF2FBDFHFR 114, 02. 10
¥ _ L L An s o S o . . ) 2 L
P EEPRER - R EF 88 5 6 iPERR K I+ A g4 ¥k S £ 33
¥ F
Z|%E|2|3|4|5|6|7|8 [+2/8 it} FL
«2/10 H %P ~ERP 2/10 % - ZKEFL € /10 kFREREREY (B B 2/10-2/14 Bt ETE 2/10 KiFE 3%
¥ HEPE - TH R A «2/11-2/14 % § #H% (TEP) 4~ § & 2/11 BE LA
«2/11 BE L 38 ~ HfF PZ/14 B ° 385 & gh g 11:20
= |1 |9 jof1f2|13[14]15 ” BPIO6 K¢ 02/12 ® = FF MR : i
. PER - a /10 RALHE §-1(Fr)- T $2/11-2/18 Rl
& ¥ 2 FRAD N . O_E - WP A4 LM
" 4:00-5:00 o
7 ° '
L < 2/17 3 $35M 42 «2/17-2/19 ##x¥ 3 2/NTHARTRELR §
¥ <2/20 % 65 BEARY [ FFRAE 0/18 21 HpFg A 2/17-2/21 ®4&E 4 % ip| &
= | 2 1617 18 19 |20 |21 |22 . 2/21 ALM)-1 F‘Hé"_ ’ L N AT ATEEHR ARG YD)
% AP RERL) L9/18 A LR £-2(4 )0 B s
8:20-9:10
¥ \2/28 feX & & P *iE /B eRBMIRFELRFF  2/27T RAEA §-3(2M)we T = [-2/24 SEL # FHAER (A [2/2TPFRERP
= | 3 k3 s e |27]28] 2 'Zgﬁ(géf 2/28 % 20 1 £ B A P 4:00-5:00(* =R %) ) ¥
N ¥
/O BARME 65 B L EPBEME  13/4 30 WiFg 3/bw~n EBZ
‘3__‘;-_ . & 2% % 4 2 = A5L
Z|4|2|3|4|5|6|7]|8 ¢ /TR EFAUNFL) R
‘ 3/6 RELR §-4(2H)Gn T =
i+ 4:00-5:00(F 2 &%)
" «3/15 & & 3/13 BPBKTERE /12 HFI% 24 E €4F e3/13 w~ E &
e 3/14 B ® 85~ . E2
S/ RABE S fee v g
= |5 |9 o p2|13]1415 BP;WE B¢ L
' EE-2 B/14EH2EEE
£ ’ 315 FE AL g
5 /TR BRAE I «3/17-3/21 % 65 BB - £ .3/21 KA 3t € 12:20-13:00 «3/17-3/21 Bu KT FEHW 3/20- ~ - £%
N ” 03/21 ﬁ] ‘J FK 5 ﬁ% 2o g(m’}) %ﬁ,"' 2 lv"
=| 6 hefzhs holoo|on|o2]-3/17 KEFBMBERFE | & . 3¢ 21 7 ES*% , . wELF
SPERHEV | g3 /21 Y MEFPEFAY Y «3/19 %EFF Y (R )SEL &
% Al .3/21 B¢ FRAH EE R i A
* «3/27.28 % - &% $3/24 % 60 EBARY [ EPERT (/24 LFEEERFF - BE «3/29 MEFAH € (R]) $3/27T - ~=2 £
= | 7 b3 P4 ps ps [27|R8]|29 g rHFFERSE Hiz
%
5 «4/3 24 &% A/1 A RfF g AF «3/31~4/2 = & &
|8 Bop|1 |2 |a]als [ 44 FPERE 4/%¥¥iz&ﬁ
° - ~a « =
& o S B
, F-ZREFTE
e 4/11 A2 ;
¥ . ped e )
o ls b ol Lolisl L4/11 % 5§ R |-4/9 4 £ T 4/22;5 RRLRTIERERE
LA I - 2 24 (i 7)-2 sy o
@ N ¥ o$ 4 _d‘z’:;%?ﬁ%
2i 4R
¥ .4/18 B¥ x5 416 31 ¢ 3 B R NERFELRE(TEY A/19REF R € (R B BF) |4/17-4/18 R/}
2 | 10 13 [14 [15 [16 |17 [18 |19 Bewohe | fﬁ(i;ﬂf):i ¥- =) 4/19 FEFEREERP § (B gy ¢ =g
W 5 -4 - <4/18 B¢ WHE T B ¢)




R:BHER%B LY LERISEERF2FEDPFFR 114. 02. 10

& e e |z s i iz oo 5 , 4 3 A ] M

1 = [ i Sl N A - Ak 17 1 mfﬂmi"’ #Fgﬂ*ﬁf ?’I v 3 fFQ g_—_ii}}f@ #‘ ﬁ' i % "‘f 2R
¥ ¥

¥ SR NPT R AR 4/25FME § K 3EAKAE [+4/21-5/10 BEIEBUHN oK 3% 1 M K &
= |11 0 1 p2 p3 |24|25 |26 «4/25 AL ®-3 A/22F HRPBPEREEE #(% 6 &) % Earth Day

#F

¥ 030 51 ¢ m g V30 BEFFTARSN FHE (52 hERT B .5/2 ®EFAEY (AR s
T|12p7pspopo|1]|2]3 e 3 LR BEPE 5H/27F EXWMHFTHHIEAECTFD FrEFARMAR

3‘1_ (@Iw—ll &')

# 5/9 ¢ 3w «5/0 B-FHEZTERE LB & (FRER) *5/8 T ¥ H-FF
7(13[4 |56 |7 |89 10 5~ F ¢ 30 «5/6 5 " YfF € 4F T ALY IF

i 6%¢-5 <5/ WAEF P Wik

3 «5/11 & & /1T~ 18 PRY KY€ 3 o5/14 BBl % 24 F oH/16 WA A BRFEEIIE eHF 1 HKEDR
7|14 1 2 13[4 |15 |16 |27 [+ 5/13. 14 % = <& 5/16 A4 /1671 ¢ € L EFHLE W Row row row a

W 5/12 2 BEREBREF - RE dragon boat

5 «5/19-5/20 3 - ~ F- = FEZAKEFTE «5/19-6/6% ~ ®* 2 2§ ESF 15/19-5/23 FEFEE L (65/22 ¥ N A-¥k
. 3P «5/21 ¥ § E & L e o »3140 %3 (RY) E~pR-FHF

+ 53) (58 i Hate)

¥ «5/29-6/6 % ¢ F1% 2 b . o <, [+D/26-5/30 P * g7 T (¥37)
= |16 |25 6 p7 s [29|30(31| 4 & 5/(2);;;@ & & «5/28 B - FHEFHEE

W «5/30 = HaE : 5/29 RY L EY R4 R (i)

¥ «6/2-6/6 - & £ ¥ A4 ERFEHRESTAF «6/3 6 % WiF g4 «6/2-6/6 - 2B<P 2 (e6/5-6/6 H| & £
[17(1 |2 [3 |4 |56 |7 «6/6 AL M-5 6/6 R® g5 +55% Tl 51

F

¥ 6/13 3 ¢ FI% 4 i 1l ey (V1237 PAPEIEILEL 6/l RABERS 6/12 kb &2 35
A1 oo pof fofful-6/8-15 #MB Ry |Loizams [0 L EFE Ly e mameRan g aw g i

*F ‘;:: —1‘)

¥ 6/18 W1 255 AEES [-6/20 A ° .6/16-6/20 B uI i %7 3 [+6/18(Z )R- 2 ¥
= |19 |15 6 17 18 [19]20|22| RE)} B¢ B EL A 5~ % ¢ $ (IEP)# % € & LATEREFIR

7w 6 %¢-6 TR BELAR

5 «6/25.26.27T ¥ = &% «6/24 W E R 06/23_%?%%%%%?2:&.%3: 06/23 WV 2 B~ L F [e6/25 ¥ E-=~
2 o6/27H %+ ' R & S I EmxiE
2 ?0 22 23 4 3 [26)[27]|28 ¢ 6/24-6/25 — ~ 1

4 s e

LS «6/30 REN ~ A& oT/4 A A FHIP «6/30 =F &
= |21p9po|1 [2[3]4]5 JT/5 B2t pdpa Y

4 ST XA L E
= f 6|7 (8|9 [10[11|12[¢7/8 224 B¢ AR > F&BLHE T7/10 L3 > F&FAHI(F LWL /1112 37 &~ $Lpl%
= f 13 14 15 16 |17(18[19[e T/14 &% T/10 % ¢ %= FHE Y FRBEI L
= f 20 1 p2 p3 (24(25(26« 7/21 B= ~ % = B #3354 723 BYHERARISTEHPHREY =+ KFREBS
2| R 07 8 p9 B0 [31]1 |2

B




